% ’ a @ vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
_—E—Exl: 24><§+8+l:
3 4 2 5 2 2
I 2 2 1 I 1 2 1
—_— e X _— - = _— — — X e — - =
5 5 5 2 6 2 5 6
I 1 1 3 1 1 3 3
4+ +xI= 4+ _xZ4+Z=
2 4 5 4 3 2 5 5

3 1 2 1

I8% —+2+ - = -4+ - =
857273 I
2 1 1 2 31 2 1
4+ x_4+Z= 4+ +x_=
5 3 2 5 2 4 5 6
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ek - 10K

vier Briiche, Reihenfolge der Operationen

Name:

3 3 1 43
173755z =)
3 4 2 5 60
1 2 2 1 23
sT5X5T5=05)
5 5 5 2 50
1 1 1 3 9
4+ —_x=_

2 4 5 4 10
1 86 11
I8X =+2+ = — =5—
3 15 15
2 1 1 2 29
—_F — X —4F — = —
5 3 2 5 30

Datum: Ergebnis:

3 1
Ux2+8+-=5
2 2

1 1 2 1 1
c X I o =)
6 2 5 6 5
1 1 3 3 37 7
_—|—_X_—|-_:__:1__
3 2 5 5 30 30
8><_+4+l=2_9.

6 3
3 1 2 1 109 49
_—|—_—|-_X_:__:1__
2 4 5 6 60 60
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